Preliminary Drawings

Note: These drawings are preliminary. Minor
changes in beam placement, size & design may
be required for structural reasons. Architect and

Contractor to verify ALL dimension.

J

No.PL No.TL

PRODUCTION NUMBER LIST

Name Material Quantity List width

N General Notes:

List height

Timbers to be White Oak, Rough Sawn

Pegs to be 1" Oak, cut flush with the frame

One coat of stain, oil or urethane to be shop applied
on all sides.

All Bolts to be 3/4" galvanized Grade A307.
All Steel to be A36 and to be galvanized
and shop primed flat black.

Real Length

[inch] [inch]
1 Bench Rim Oak 1 2" 4" 1" -8
2 Bench Rim Oak 1 2" 4" 2" -1"
3 Bench Rim Oak 1 2" 4" 4 -1"
4 Bench Rim Oak 1 2" 4" 4 -3"
5 Rafter Oak 4 2" 6" 1" -11 9/16"
6 Rafter Oak 4 2" 6" 1" -11 9/16"
7 Rafter Oak 2 2" 6" 3" -7 11/16"
8 Rafter Oak 6 2" 6" 3" -9 5/16"
9 Ridge Oak 1 2" 8" 3" -10 13/16"
10 Hip rafter Oak 2 2" 8" 5t -3/4"
11 Hip rafter Oak 2 2" 8" 5" -3/4"
12 Conn. Oak 1 4" 6" 4 2"
13 Conn. Oak 1 4" 6" 4 -2"
14 Conn. Oak 2 4" 6" 4 -2"
15 Conn. Oak 1 4" 6" 7 -g"
16 Conn. Oak 1 4" 6" 7" -g8"
17 Post Oak 1 6" 6" 1" 4"
18 Post Oak 1 6" 6" 7" -4"
19 Post Oak 1 6" 6" 7" -4"
20 Post Oak 1 6" 6" 7" -4"
21 Post Oak 1 6" 6" 7" -4"
22 Plate Oak 2 6" g" 4" -3
23 Plate Oak 2 6" g" 79 12
24 Plate Washer  Steel 5 0" 3" 3"
25 L6x4x3/8  Steel 5 4" 6" 4"
BOLT AND PEG LIST
No.TL Material Quantity Diameter List length
[inch] [inch]
18 Oak / 019 9 3/ 5"
19 Oak / 0 19 8 3/4" 7"
20 Oak / 019 12 3/ 8"
21 Steel /06 13 /4" 5"
22 Steel /06 16 1/4" 9"
23 Steel /06 8 /4" 1n"
24 Steel / 0 19 5 3/ 8"
Sum: Total 71

VERMONT
TIMBER
WORKS

INCORPORATED

36 Fairbanks Road
North Springfield, Vermont

802.886.1917 - 802.886.6188 fax

\__ Www.vermonttimberworks.com

-

N

N

o

80"
/—1/4"x3"x3" Plate Washer 24 (Typ)
6"x6" Post 21 6"x6" Post 20
~ R [+ L6x4x3/8 25 (Typ)
\— 3/4" Black Galvanized anchor holt by others
See Bus Shelter Foundation Detail on
S-18 by Hoyle, Tanner Associates.
g 3 5
o] o
6"x6" Post 18 6"x6" Post 17 6"x6" Post 19
1-10" 8
8-0"
105 1/16"
18 ‘ 19" ‘ 19" 18"
o n i
6"x6" Post 21 | & &| 6"x6" Post 20 §
: :
. 2 " " e .
~N ~
L L
\; 6"x8" Plate 23
[oe] [oe] [oe]
[0} [0} [0}
\ = = = /
5 AN & g g /
~ ~ ~ Ny
&
&
&
S
S y S &
2 2 T
< <
o o
o Spike or screw rafters o
© to ridge. Predrill holes. ©
ﬁ 2"x6" Rafter 7 2"x8" Ridge 9 2"x6" R ;
&
N
%%
S
NS

-«

N

Post 6"x6" 18

2"x6" Rafter 8
2"x6" Rafter 8

6"x8" Plate 23

N4

2"x6" Rafter 8

//f/

Y

\
-
2"x6" Rafter 5
oy

v

2"x6" Rafter 6

1-91/2"

_/

Screw rafter to plate with
(1) 9" LogHog

Screw hip to plate w/
(2) 11" LogHogs

ROOF FRAMING PLAN

(2) 5" Log Hogs. il
Plug w/ 3/4" peg.

23/4" Peg 8"

S
K
©
g
g 23/4" Peg 8"

[

(2) 5" Log Hogs.

) ) Plug w/ 3/4" peg.
NOTE: Bench rim has a rabit shelf to

accept the bench slats. Slats will need

a spacer between them. Indivudual pockets
are not recommended due to the wood
breaking apart as a result of not having

enough continuous grain between each pocket.

\ 5" Log Hog.

Plug w/ 3/4" peg.

THE ENGINEERING ADVICE, OPINIONS, AND
RECOMMENDATIONS IN THIS DRAWING ARE THOSE
OF THE LICENSED PROFESSIONAL ENGINEER WHOSE

CTAMP APPEARS HEREIN, AND NOT THOSE OF)

-

VERMONT TIMBER WORKS, INC.

~N

Framing Plan
Perspectives

AN

Timber Frame Bus Shelter

Weathershield Bus Shelter
Weathersfield, VT

Project

~

Drawn By: PJZ
Scale: 1/2"'=1'-0"
Date: 5/1/09

Plot Date: 04-30-09

REVISIONS BY
XX/XX/XX XX
SHEET

-1

COPYRIGHT VERMONT TIMBER WORKS, IN{.

THIS DRAWNG MAY BE UTILIZED ONLY FOR THE
WORK SHOWN HEREIN AT THE SITE SPECIFIED. ANY

OTHER USE OF THIS DRAWING INCLUDING, WITHOUT

LIMITATION, ANY REPRODUCTION OR ALTERATION
OF THIS ARCHITECTURAL WORK WITHOUT THE
PRIOR WRITTEN APPROVAL OF VERMONT TIMBER

kWORKS, INC. IS A VIOLATION OF LAW AND

PROHIBITED




Spike or screw rafters
to ridge. Predrill holes.

Spike or screw rafters

VERMONT
TIMBER
WORKS

INCORPORATED

36 Fairbanks Road
North Springfield, Vermont

802.886.1917 - 802.886.6188 fax
\_ Www.vermonttimberworks.com

4 )

FRONT FRAMING SECTION

P ~F i~ — < to ridge. Predrill holes.
— - - ~ ~ ~ ~
e | SRR PR B
P | Spike or screw rafters =7 . NN 12 -7 | T~
_ - to ridge. Predrill holes. o ! >~ 6.00 —~ >
- )‘ _ -~ | . ~> N P ~ ‘ | N -
& g D —- T - - - - - = = = — & —~ - ] L STl & _ -~ = ~
= _ Pd — ~ ~ — < N> ~
« P T~ | [ © — 4 -~ ~ SR~ © P Py S~ ~
— H — . -~ ‘ ‘ ~ ™~ ~ — ~ - - >~ ~ ~
Screw hip to plate w/ =7 [ | | Screw hip to plate w/ _ o | — ~ | ™~ - | e b ST~ | -
(2) 11" LogHogs , ~ =z~ I Lo (2) 11" LogHogs //// - . - - ‘ . ! S - - \ ~ o Screw hip to plate w/ | _ [ Y | ~ ~
- - i - \ - L ~ \ ~ (2) 11" LogHogs _ — ~ ~~ ~
- P : : S((l:;egv [iﬁi:;o plate with : : = o - o SO0 RN g J _ =7 Screw rafter to plate with: : ST L ™~
_ 7 -z L griog L 7 L L >y NG - /(// (1) 9" LogHog o \\\\ ~ \\\
~N NN
e P - J o I | Screw rafter to plate with |_ | L o L IRINEN ‘ P - =~y
\ - ; - ny,Qn - - ‘ (l) 9" LogHog ‘ ‘ | h ~ / - ; - ny,Qn = i ~ /
_Z 6"x8" Plate 23 _ 6"x8" Plate 22 N z 6"x8" Plate 22 N
\/// - - - — ! = — > ~ = t\\/
6'x8" Plate 23 646" Plate 23
6"x8" Plate 22 m xg' Flate
n 121 ﬂ
121 \F2/ \F2/
g g g
— o (2] o © —
N N — N — N
@ @ 1] 1] @ @
o o [e] [e] o o
o o o o o o
© © © © o o
x X X X X =
© © © © © ©
e —
N/
4"x6" Conn. 12 4"x6" Conn. 15 o 4"x6" Conn. 14 ?/ X . 4"x6" Conn. 15 o 4"x6" Conn. 12 g 4"x6" Conn. 15
e
& i i
5" LogHogs @ S\
2"x4" Bench Rim 3 2"x4" Bench Rim 4 2"x4" Bench Rim 2 2"x4" Bench Rim 1
e —
Y / e o
N/
4"x6" Conn. 13 Ll ° ° |J 4"x6" Conn. 16 o) 4"x6" Conn. 14 d‘) X 4"x6" Conn. 16 ° o 2"x4" Bench Rim 3 4"x6" Conn. 16
2"x4" Bench Rim 1 L/ \
4"x6" Conn. 13
iyt iyt 1/4"x3"X3 Plate Washer 24 L6x4x3/8 25 L6x4x3/8 25 g
. 1/4"x3"X3" Plate Washer 24 L6x4X3/8 25 L6x4x3/8 25 1/4"x3"X3" Plate Washer 24 1/4"x3"X3 Plate Washer 24
Lead flashing below post [ . ] |
L6x4x3/8 25 (o I | ] or—_ I | ] or—_
[ M [ |
7 ‘-—V 3/4" BEck Galva,r‘17ized anchgr bolt by oﬁwers ,V ,V ,V ,V ,V ,V ” ,v ” ‘ 4‘7—‘73/4 Black,‘éalvanizeg anchor boTt by other; o ,V o ,\ i . ,V S ) ' ,V T ,\ <—V 3/4" BTack GaIvaEized anchgr bolt by o‘{hers 7 ‘ ‘ ,v ” ”
. - ® SeeBus Shelter Foundation Detailon =~ -~ - % .8 0 b BT E e T See Bus Shelter Foundation Detail on N I S| - 2% 7 ™ See Bus Shelter Foundation Detail on N S .
o © < -_ 'S-18hyHoyle, Tanner Associates. - ¢ - e e e e e e e e I ﬂrv "« - $-18 by Hoyle, Tanner Associates. =« - T ¢ - JJ S el e, JJ < - S-18byHoyle, Tanner Assqciates. - < o e Uv R
31 31"
A'R". 4"6”
80" 46
— :r 0 - - - - - - - — = . T - - - - - - - - =
P I
e | \ [
~ -
\
P ! Lo ( .. . h
-~
. T S A Preliminary Drawings
= -~ | (. ‘l
g ) ~ - ‘ . .. .
Screwhiptoplatew/ 17| 7 ! I @ Note: These drawings are preliminary. Minor
(2) 11" LogHogs ol \ ~ \ I . I .
S - - _ - _ - changes in beam placement, size & design may
- \ _ - I Screw rafter to plate with bl . i
P ae Iy - 1 (1) 9" LogHog I be required for structural reasons. Architect and
e C | - . . .
‘ ‘ - Contractor to verify ALL dimension.
ez L L - ﬂ3/4" Peg 8" 034" Peg 8" S fy )
\ - ! L Il 6'x8" Plate 23 p3/4"Peg 0
~
\ -~ I ‘ \ [ I
N - | [E [E &
= o
8 zg
©
12172" w 7
[a 8
23/4" Peg 8"
83/4" Peg 8" 93/4" Peg 8"
[
SR
T T
/ D\ s ‘
N !
Plate 6'%8" 22 L
|
° |
[ | o
| €
1| g
© 2'%6" R,
| after 8
(2) 83/4"X5" - Peg Pan
110" i
<O ol
Plate 6'x8" 23 A -
¢ (2) 93/4'X7" - Peg = 3/4"x8" Bolt -7
ny A0 : - ] ~ -
2"x4" Bench Rim 2 ®® w \ 0 1/4"x3"x3" Plate Washer 24 ——
S
. 8 Post 6'6" 21
T E Spike or nail assembly =]
together. Predrill holes. | &
©
1/4"x3"x3" Plate Washer 24 o} 1/4"x3"x3" Plate Washer 24 1/4"x3"x3" Plate Washer 24 \ =
\ 2|
| &
4 4 4 4 4 4 4 4 4 4 4 4 4 < ‘
e . . . . . o . . . . . Exploded Top View | View from below
L
2-1" 5-11"
DETAIL VIEWS
8-0"

THE ENGINEERING ADVICE, OPINIONS, AND
RECOMMENDATIONS IN THIS DRAWING ARE THOSE
OF THE LICENSED PROFESSIONAL ENGINEER WHOSE

STAMP APPEARS HEREIN, AND NOT THOSE OF
k VERMONT TIMBER WORKS, INC. )

4 )

Bent Sections
Detail Views

N
AN

Timber Frame Bus Shelter

Weathershield Bus Shelter
Weathersfield, VT

Project:

AN

Drawn By: PJZ
Scale: 1/2"'=1'-0"
Date: 5/1/09

Plot Date: 04-30-09

REVISIONS BY
XX/XX/XX XX
SHEET
|

COPYRIGHT VERMONT TIMBER WORKS, IN{.

THIS DRAWNG MAY BE UTILIZED ONLY FOR THE
WORK SHOWN HEREIN AT THE SITE SPECIFIED. ANY
OTHER USE OF THIS DRAWING INCLUDING, WITHOUT
LIMITATION, ANY REPRODUCTION OR ALTERATION

OF THIS ARCHITECTURAL WORK WITHOUT THE
PRIOR WRITTEN APPROVAL OF VERMONT TIMBER

kWORKS, INC. IS A VIOLATION OF LAW AND

PROHIBITED




